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\ahn-Oberbaues (Sch.Pr. No. I) Referenz: Hc

ir eine einfache Weiche mit 1/10 Kreuzung

"30030,00
6006,00 4004,00 6006,00°
=780 780, 780, 780, 753, 1 51, 51,00—*=7=—851,00—*==—851,00—*=7=60(,00=7=—826, 26, 63, 75, 780, 10, 726,00~=7=604,00=T=-701,(

' O g
— | | '
\‘\\::—: ||
RN [ S ) S B R e e — = S N ) R | D A N N Y R A [ N N A [ N
I R =~ N
— —————— 00
= T | 0,00
T =T = . L [ I 500,00 IP—EQLF'S—‘——SODSOO
=== _ 4 Cao00 —_—— b
| | . — —?. .
T T —
—— | | |— 1.
| — .
T f—
T = |
d d d 4 4 4 5 ——— =
— —
i i ‘ ’ — —\E T
—
[ — L
c c b b b . L
R238862, [4
L
— — |
I I ] I >
I — I ™ I— —
— :l::———:;—' —
| g
:::—-—_cj.__—“:;—-—/ [ I
L — -
| I Iy B
| 1o —
|_ . == T L |
— T T = =r= T =]
— -1 1. —[ T |
= I B e
/—‘//I’___—-‘;———/
==t =A=———= |+ — T —tT T =TT T T T T
|
—

Miinche
revd. im

@@ RL 2 @6}



Zeichnung: Jiirgen Riedl 10/2000, www.laenderbahn-forum.de
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